GATUNDU SOUTH DISTRICT
ASSESSMENT TEST MID TERM 1 2015

_ o " DARASA LA TANO KISWAHILI
aza pengo kwa neno lifaalo ; C. ap D. hp
Amina aliachiwa 1 1hamhshemaxmak1enda {19. : mnguozawafany]kankamavﬂe
kununuavyakula 2 .Mamaalikuwa amepika chakula makanika au wahandisi
cha_3 ilimtoto 2 _4___njaa BadalayaAmina A. Joho B. surupwenye
kumpamtoto 5 yeye_ 6 _ .Maramtoto C. Tarbushi D. buibui
akaanza___7 _ kwanjaa. Alianguka. 8 zaidi  |20. Anayetibu wagonjwa hospitalini ni
: ahpoonahakunadahh yachakula. Aminaalijaribu__ 9 A. bawabu B. mwuguzi
anyamaze lakini aliambulia_10 _Mamaaliporudi 11 C. tabibu - D. vidonge
kwani alikuwa amemwachia mtoto chakulacha___lz__. | Tumia amba kwa usahihi e A
. AlimuulizaMariakwa___13 asemenamamekﬂa ‘121. Milango. - - ilivunjikani mibovu
- chakula chamtoto. Amina alianza kutetemekana _14 - A  ambayo B. ambaye
aibu. Aminaalichapwa mpakaakashlka 15 : C. ambalo D. ambao
1. A mtoto : B. mnyama ']22.  Andikakwamaneno: o "
C. shamba . Drlami . A.  sudusi B. rebo
2. A njiani B. sokoni ; C. ‘subui .  D. tusui
C. mtoni D. kiwandani 123.  Mmea unaozaakahawa unaitwa
3. A kibaya - B.kidogo A. mpera _ B. Ndizi
~ C. kutosha ~ D. kizito 5 C. mbuni .. D. korosho
4. A. ahisi -B. aone " |24. Kifungukimojacha shairi huitwa
C. asikie D. asihisi ‘ A.  mshororo . .B.ubeti . .
5. A. . dliitupa . B.alkla ; C. kibwagizo ~ D.mizni
C. alipka ~ D. aliacha 125.  Kidole kikubwa cha mkono huitwa
6. A. mwenyewe - B. chenyewe A. chanda
C. wenyewe .. D. zenyewe B. chakati .
7. A. kucheka - B kulaa. . C. gumba.. ...
C. kulia ' D. kafimahi D. shahada ' ' .
8. A. kilio B. kifafa 26. Chakula cha kwanza kutia tumboni wakati wa asubuhi
C. it D. kitandani huitwa S
9. A. kumpiga B. kumbembeleza A. chamcha B kiamsha kinywa
~ C.  kumwadhibu D. kumchuna C. chajio D. kishiika
10. A. patupu B. pabaya 27  Malipo anayopewamtu ahyeklpatakmlklhchopotea
C. papana D. pakubwa huitwa - .
11. A. alishangaa B, alifiwahi - " A.  kiokosi B.ada
C. aliridhika dglishiba =~ -} C.. fdia = D.faini
12. A chafu 128; Sehemukwenyepclmyaxmgmyet&mayoumuka ~
o1 C. kidogo D.kioyu - | kuonani |
13. A amani - B. furaha A. ndewe B. kwapa
C. hasira D. mwelekeo _ C. .wayo . . D. mboni
14. A.  kuona B. kuangalia - 129. Andika nambari hiikwamaneno 69,699
- C.  kurusha D. kuehunguza : A. Elfusitini na tisa miasita tisini na tisa
15. A. mkono B. adabu B. Sitatisasitatisatisa -
C.  chakula D. usingizi C.  Sitaelfutisamiasitatisininatisa
Jibu maswali ifuatayo , D. Elfutisini, miasitatisini natisa
16. Nyumbani nrwazima? - (amilisha li hii: '
A..  Njema B. salama - }30. Mtegemea nundu haachi
C. Tuwazima D. viaxi : A. kupata
il hmaxxlazwasakaﬁnn  B. kukonda
A zuha . B.rfu, . C. . kuona
C. paza D. kltambaa ‘1 - D. kunona . e
-18.  Tumiakiulizi ‘pi’kwausahihi .~ .- 131 Msxmuwajuakahbllamvuam___,__ﬂ_j
Nijambo lawezakusababyhaugonjwawa : A.. kipapwe . B.kangazi
ukimwi? L : C. maska .. . . . Dlusi
A. wi B;i;i . ,




32.  Harusi hiyo ilihudhuriwa na watu Wengi kama

A.  siafu B. matawi

C. maj D. jiwe oy
33.  Nini maanaya kulala fofofo? : LB

A.  kulalavibaya

B.  kulalakabisa

C. : kulalakidogotu
D.  kukosausingizi

34. Vyakula borahufanya miili yetu vyema
A.  kukuwa Bikula
C.  kukua D. kuwa

35. Katika msamiati wa ukoo, halati ni nani?
A. dadake baba B. dadake mama
C. ‘kakaye baba D. kakaye mama

36. Kamilishamethali ifuatayo
Dawa ya moto ni » i1
A, maji B bazaﬁl
C.  melo D. m .

3. Elemmaamyamsemoufuatao ‘kapata jiko”
A. kuoa

B. kummuajxkola_makaa

39. V_]lkOhlVl _ ili <u
A. ndlvyo - Bondiyo
C. < .Di.ndio

Tumia alama sahihi ya uakifishaji

40. “Kumbe Juma ni mwizi 2
A O B. ()

MwarmnaSheﬂawanmshmammwaomjmlNaxroba
katika mtaa <wa Ziwani. Huko sio kwao hasa. Wanaishi
huko kwa sababu wazazi wao hufanya kazi mjini Nairobi.
Mashambani kwaomhukobondelaufakmhnmsokola
Matunda.

Baada ya kufunga shule kwamuhulawatatu,Mwaxmna -

Sheila walipelekwa mashambani kwa mara ya kwanza.
Walishangaa kuona nywmbani mwao hamkuwa na taa za
umeme au mifereji ya maji. Watoto hao walilalamikia wazazi
wao eti kwa nini wamepelekwa huko. Wakauliza wanarudi
. kwao lini. Wazazi wao walicheka sana kusikia swali kama
hilo. Baba yao aliwajibu kuwa hapo ndipo nyumbani kwao
hasa. :

Baada ya kuelewa ukweli kuhusu nyumbani kwao Mwami

na Sheila walianza kupenda mahali pale. Walishiriki
- kuwachunga mbuzi na ng’ombe. Wakawinda ndege huko
- malishoni na kuwafanya kitoweo. Waliporudi ayumbani
walipenda nyumba yao kubwa yenye vyumba mbalinibali

kama vile, sebule, jikoni, vyumba vyakulala , stoona choo. |

Waliporudi-mjini hawakufurahia malnya myjini tena.

e A

42

1 43.

45.

| 4.

1 47.

48.

49.

50.

- Walitarnani kuhamia mashambani kwa nyumba yao kubwa.

| Kweli nyumbani ni nyumbani.
141

Jina lingine lenye maana sawa na wazazi 0i ?
A. - wakunga . B. wazee

|5 wavyele D. mabuda

Kwa nini Mwami na Sheila wanaishi Nairobi?

- A, wazazi wao wako huko kikazi

B. hawana pengine pakwenda

C.  huko ndikomashambani kwao

D.  walifukuzwanyumbani

Nyumbani haswa kwa familia hii ni wap1'7

A. MtaawaZiwani -

B.. katikati yajijila Nairobi ‘-

c. BondelauﬁlkanbunasokolaMaumda

D. Kandoyabarabara

'MwatmnaShm}awahpoﬁmgshﬂenn&ubmm

:hlﬁkuvmnawamwengx wakuogofya

hﬂnﬂmmm;aazamm@fmiyamajr

D - wazazi wao walitaka kuwaacha huko
Baada yakuelewa ukweli kulmm‘kwao Mmmna
Sheila,

A wmhlpendammshayamashambam

B. “rﬁmmkumdlmjml

C.  ‘walitorokea msituni
D. walgtﬁmgandambﬂakmokamc

Chumba cha kukaribisha wageni huitwa
A.  Sebuleni

B.  Hamamuni

C. Jikoni :

D. darini i

Nymnbayamashambam dlkuwakubwakuhko

yamjini
Nyumba ya mjini ilikuwa kubwa kulikoya -
mashambani '

Nyuntba zote mbili zinatoshana
Kuhnganamm&mnowaMwammaSkmlatlmona
yakwamba
A. Mmﬂlayahjnjmlmbomkuhkoyampm
B. Ma:shayamashambammborak\mkoyam
C. Hakunahajayakwendamashambani-

D. MwmmmmpendanmtnuﬂmmSheﬂamjml
Kifaa cha kuwindia ndege huitwa.
A, kisu

B. Rungu

C. manati

D.  bunduki -

A

A
B
C. * Mjini na mashambani hapakuwa na nyumba |
D.

wl

ot

=0
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GATUNDU SOUTH DISTRICT

ASSESSMENT TEST MID TERM 12015

"STD.5 ENGLISH

Read the passage below and fill the biunk space? wnth
the correcticholce

My is a farmer. Although his farm isthe 2
inthe whole village, ~ 3 roducesalot. We _ 4
crops like beans, 5 petatoes and maize. We help
our father on the farm Weusuallygo 6 _the farm™
early 7 the momning and %67k until noon. Wheh we
goto thefarm, we g dig the land using hoes. Some-
times father 9 aplough pulied by bél

10 use a tractor because we cannot aﬁ'ord it. After
wehave 11 _the land, we plant the seeds. We wait

12 _somedays until the seeds have 13

14 ~14__toremove the unwanted plants. If thereis __ 15
rain, we usually get a good harvest.
1. A, mother B. farther -
C. amt D. father ,
2.. A. smallest B. small -
- C.  smaller D. most small
3. A. they B. hm
G @& . D.we
4. A growing - B. grow -
C. grows D. grew
5. A. cabbages B. garbage
© C. manure - D.grass
6. "A. from -~ Biof
C. to D.fer
7. A on "B T
C. off D. with
8. A fast B. first
9. A use B e
~C.  inuse "D.using
10. A. do B. doesn’t
C. didnt D.don’t
11. A dig B. hasdug
C. digging D. dug
12. A.  with B.of
C. for D.to.
13. A _grew B. had grew
C. grown D.grow
14. A. plant B. weed
C.  harvest D. plough
15. A. enough Bino
C. litle D. many
Choose the correct word
16. ltwas . to ndethebxcycle without blakes
A. dangerous ‘ :
B.
G easy_
D. fire )
. 17. Wewaited_______atthe zebra crossing
A.  patient ‘
B.  patiently N
© C. carefully et
D. care
Write the past tense of the underlined word
18. The sad mourners cry loudly
A, cry B. eries
C. cried D. crying

1 21.
. Wethen|

19. The plane has just take off
A. took
C. takes

B. take
D. taken

-Choose the correct order of adjective

20. Joshualivesina house
A. brown large stone
B. large brown stone
C. stone large brown
D. large stonebmwn
My mother lost her ____gumboots
A old rubber green
- B. rubber old green
- C. greenrubberold -
D. old green rubber

Choose the correct. word to fill in the blank space

22. Themedicineis. - bitter to be taken
A. so ~B. too
C. two D.to

Use the correct punctuation

23.  Where have you been ,

J Al B
C.« D.?

Cheoose the correct word to fill in the blan!g space

24.- The daughter of my aunt is my: v
A. daughter- - - B.amt
C. sister D. cotssin -

Choose the co gquestion ta
25. Johnsellscars

 A.doesn’the? B. does he?
o 7 C, didbe? - D. didn’the?
6. They do notmanufacture dairy products.
' A. have they? B.haven’tthey? .
C. dothey? D. don’t they?

Write the opposite of the underlined word

27. Ourteacher taught us how to add sums
A. plus B. divide
C. subtract D. sim ;
1 28. Wefoundmanyguestsatthemdthehall
A. exit B. gate
4 C. enter D. goin
Werite the correct preposition
29. Thetopsoil has been blown bythestrongwmd
A.on B. off
C.away D. by
30. Thebigriver flows the lake
A.into B.for =
Reﬂd his ¢ er'qg ms 31-40

~ Our school hasotherwprkctsapanfrom S
workers do different types of werksin thesch@l, : One of the
workers in our school is the Secretary. Thesecretary types
school letters and exam papers. She also answers the
telephones andreceives visitors: Shealso kegpsthe school
records. Our seciétary is calléd Amanda:

Anotheri t worker is the school messenger. He
is sent totake messages around the school. He also brings
letters to the school. Our messenger has a bicycle which he
rides when he issent out of school compound. Our messen-
ger is a kind man-alled Patrick. ,

Wehavea watchman who keeps the school safe.

——— A




He guards the school during the day and at night. Qur watch-
man, Ben, wears a smart uniform and he carries a ‘rungu’.
He keeps bad people away. George is our school bur-
sar. A bursar is like a cashier in a bank. The bursar keeps
school money safe. A bursar must be an honest person.
Clement is our cleaner. He makes sure that the school
compound is clean.He cuts the grass, sweeps the compound
and even sweeps our classrooms. He also picks up the rub-
bish around the school. Sometimes when some pupils make
noise in class, the class teacher tells the noise makers to
sweep the classroom.
31.  Whatdoes a secretary do? -
A. Types school letters only
B. Types exams only
C. Types school letters and exam papers
D. None of these SR

32, Who keeps the school moneysafe? -
A. Headteacher :
B. Secretary
C. Bursar vooeiy
D. Messenger '
33.  The word important in paragraph two means the
same as s £
‘A. hardworking - B, unimportant
- C. useful i 5 i
34.  When does the messenger ride the bicycle?
A. Anytime he is sent '
B. Anytime he wants
D. When heis sent outside the school - :
35. Bicycleistoride as aeroplaneisto 1.
A. ride Bﬂy e el 2
C. drive D.eycle. ~ .
36. What i§the bursar’s name? ok o SO
"A. George B. Pafrick
C. Betty D. Ben
37. Who cleans the compound? i
A. Betty : B.Clement
38. " According to the story , Patrick isthe .
A. bursar B. m
C. watchman - D. cleaner
39.  When does the watchman guard the school?
A. During the day
B. Atnight : .
C. Eitherduring the day oratnight ™= . - - ‘;
D. Atmnight and during the day : “1 ¢
40.  According to this passage. who must be honest? ;
A. Bursar g
B. Watchman
C. Secretary
D. Messenger -

" Read the followi assage then answer the questions |
that follow 41-50 = - PRI YO

_ “Many pupils‘do not enjoy games because they are
unaware of the advantages. Apart from physical fitness and

- the fun, games have many other benefits tothe youngand |

€Ven grown-ups. - s »

- Many games and sports involve two teams made up of
several people. In order to win, all members of ateam must
- play together. Thus a member leamns how to relate well with

therestoftheteam . 4 N
A game also teaches people about equal opportunities
in life. A team wins depending on how they play and planto

g o w

e s S i

43,

| 44.

1 4.

A I

47.

defeat the other. This shows that in life hardwork pays. An-

| other important skill is that of fairness and playing by the

rules. Forany game to succeed all players are treated fairly

~

and must stick to the rules. Anyone who does not follow the

1| rules is punished. The same appliestoreal life. = -

Through games, one learns that sometimes the unexpected
happens. When you have tried your best but you do not
succeed, you acept the results and move on. There is al-
ways another time, : ‘

‘41. Why don’t many pupils enjoy games?

A. They know the benefits
- B. They are aware of the advantages

C. They don’t know the advantages

D. They do not enjoy games

The word grown-ups in paragraph one means
. Acteachers . . Byoups

- C. adults' .- D.men
For a team to win, all members
A. mustunite
D. could unite g i
The success of a team depends onhow well the
members play. This shows that
A. hardwork is optional -
B. hardwork payment
C. hardwork is necessary
D. hardwork is not important -
When the writer says all players are treated fairly, he
means
A. players go to the same hospital
B. the players are sick
i~ C. all players are harmful
§ D. players are dealt with equally
46.  Which of these proverbs supports teamwork?
A. Every man for himself, God for us
B. United we stand, divided we fall
C. Too many cooks spoil the broth
D. Hurry, hurry has no blessings
P s lmx’msli?::k totherules......... ”in the passage

42.

e

means
A. follow the rules

. B.-topinthe rules
C. use aruler and a sticker
D. give the rules .- _
If you do your best but do not succed, what should
you do aceording to the passage?- ,
2. Blame surself

B. Try harder forever

C. Accept the results

D. Blame the team members

The expression move on means the same as

A. continue walking

B. continue wjthlife

C. move onin the figld

D. move o your teasa members

Choose the best titlefor the passage -
- A. Gameshave few ddvantages
-B. Importaneeof.games '

C. Why games are unnecessary _

D. Games for young people

48.

49.
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. A Monday

| STDS ’
. Body building foodsare also known as

A. protective B. earbohydmtes
C. proteins . D.vitamins .
The moon has different shapes and sizes at different
times of the monthcalled____of the moon
A. shapes B. colours
C. phases D. sizes '

The diagram below repmeﬁts a tooth whose

function is

A. chewing " B. tearing

C. biting D. grinding
Which one of the following gases is breathed in
during breathing

A. oxygen B. nitrogen

C carbondioxide D. neon

The set up below was used to investiate a certain
component of soil ]

20

The experiment was used to show that
A. Soil hasmineral patticles
B. Soil has air
C. Soil has organic matter
D. Soil has water
Otieno ate the following foods:-
maize + beans+ cabbage
p Tuesday  ugali+ beans+ spinach
¢. Wednesday ugali +meat + cabbage
D Thursday mmpumkms + carrots
On which day was the meal not balanced
We use water at home for washing, bathingand___
A. building B. irrigation
C. cooking . D. spraying
The upper Jaw consists of pre molars
A. two
B. four
C. three
D. eight
The air we breath in is usually clemed inthe. .

Garden Soil

\\

Heat

B Crickets and anB

C. Worms and bettles
D. Insectsandmsectlaﬁn

12,

13.

The above foods represents
A. protectlve ' B bodyhuildmg
C. energy giving Dbalamed diet

Swimming and boat rowing are examplesof
uses of water
A. Industry
C. Farm

B. Transport

D. Recreational
teeth are used for chewing and grinding
A. Molars
B. Mouth

14.

15.

16.

17,

18.

19,

- A. lungs

The exchange of gases during breathing process takes
place inthe ‘
B. bronchi

C. airsac D. nose

Which one of the following is not part of humus
A. Decaying plants

B. Broken pots, glass and plastics

C. Decaying animals

D. Cowdug from animals

Food substances that are . requiredito keep

the body in good health are called

A. medicines B. nutrients

C. poisons D. balanced diet
Water in the farm is-used for L
A. Mixing chemicals B. washing utensils
C. Boatracing D. Decorating

The first set of teeth is milk set. It walsobe
called

A. decidious

B. babyset

C. permanent

D. shedding - :

A. Moves upwards and outwards -
B. Moves inward and form dome shape

C. Moves downwards and flattery




20.

21.

22,

24.

25.

26.

21

28.

29,

30.

. A. sugar cane’

D. Moves outwards and inwards ' -

Which one of the follow;ng isnotaway of hghtmg a
house

A Us;ng windows and doors |

B. Using artificiatsources hkecandles andlamps :

C. Usinglightning
D. Using translucent roofs or skyhghts :

Three of the following belong to the same group.
Which one does not

B. millet

C. maize - D. spinanch
Drmkmg water can be stored maciay pot

A cIay pot keeps water cool

B. clay pot is not breakable

C. clay pot is transparent

. D.claypotislong lasting
28, °

Artificial teeth are also known as

A. Milk teeth ‘B. Dentures

C. Permanent teeth D. ‘Wisdom teeth

Which one of the following organs is NOT mvolved

indigestion of food

A. salivary glands B. pancrease

C. diaphragm D. ileum '

Three of the following are uses of heat. Wthh on¢is
not?

A. Drying B. Cooking
C. Warming D. lightning
The simple tool belowisa

A. Saw B. Panga
C.Bottle opener D. hammer
The special thread used to clean between the teeth is
called

A. dental floss “B. toothbrush
C. brushing twig D. toothpaste
Cash crops are mainly grown for

A family use B. sale

C feéding animals - D. manure

The date before which medicine should be used is.
known as the A

A. supply date B. Delivery date -
C. Expiry date ~ DManufacturing date
Which one of the following does not affect floating
and sinking of objects?
A. Typeof material
C. Shape of material -

- B.Size of material
D. Weight of material

31,

32

33.

34.

35.

36.

37.

38.

The type of crop below can be classifiedas _ crop

A. legume B. cereal

C.tuber D. fibre
__isasticky substance formed around the

teeth and causés the bleeding gum

A. cavities B. plague

C. decay D. sensitivity

The best method of weed control is

A. buming B. using herbicide

C. uprooting - D. cutting

The amount of medicine to be taken at one time is
known as

A.First aid

B. Prescription

C. Dosage

D. Medicinal quality

~ Julietused the setup below to investigate pressure in |

She realised that the Jets of water flow out equally in

both directions. This is because :

A. Pressure in liquids decreases with depth

B. Pressure in liquids is un equal at the same level

C. Pressure in liquids increases with depth

D. Pressurein hqmds isequal at the same level or
depth :

The following are reasons why ammals move from

.one place to another except -

A. feed
B. reproduce

~ C. escape from danger

D. ran away from animals

-To prevent omself formAIDS we should never

share
A. food B. bed -

- C. toothbrush D. dishes
The type of weed shown below is




39.

40.

41.

43.

A. double thomn . . B.pigweed

C. datura D. blackjack

Which of the following statement is true about HIV/

AIDS

A. AIDS cannotbetransmxttedﬁ'omoneﬁasonto
the other

B. Mosqmto&ccantxansxmttheHIV

C. AIDS has no cure

D. OnecangetAlDSthroughhuggmgonmfected
person

A sheep provide us with and

A. beef, milk B. milk, mutton
C. wool, mutton 'D. wool, beef
The sun looks larger than other stars because

A. Itisbig

B. Itis closer to the earth
C. Itis very bright
D. It shines during the day

.Which one of the groups of food crops contain

legumes only A
A. Maize, beans, peas

" B. Beans, peas, green grams

C. Peas, groundnuts, sorghum

D. Beans, millet, peas

Which of the following is the correct order in which
HIV/AIDS stage occur from the first to last stage

A. Incubation = Fuliblown - symptomatic—»Window doge
B. Symptomatic—9> Incubation> Fuliblown— Window stage

C. Window stage—Jp>incubation-§» Symptomatic - Fultblown|]

- D. Symptomatic = Incubation > Window — Fullblown

44,

45.

46.

47.

48.

A female sheep is called

A.Ram

B. Bul

C. Heifer

D. Ewe

Clouds are grouped aocordmg to their appearance,
__ andheight

A. shape :

B. weight

C. length

D. time :
Which one of the following lists consist of body
fluids through which HIV can be transmitted

A. Blood, bile and pancreatic juice |

B. Saliva, intestinal juiceand blood =

C. Blood, saliva and reproductive fluid

D. Digestive juice, mucus and saliva

Birds that are kept for meat, eggs or both are known
as

A.Birds B. Poultry ,

C. Broilers D. Layers

Dairy cattle provides us with

A Milkk : B. Meat

C. Wool - D.Hooves

49.

150.

Which of the following organ is correctly matched

with its digestive juice

Organ Iigestive Jurce
A. | mouth intestinal juice
B. | liver pancreatic juice
C. | smallintestine bile
D. | stomach - * gastric juice
Small intestines are also called
A.colon B. pistil ‘
C. ileum D. villi
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STD. 5 SOCIAL ST¥PI]

Stu

the map of Uwezo area and answe

uestions
ElL.
& TheSothastpanowaezoAr&has climate
A. Cool and Wet B. CoolandDry
C. Wet and Wet D. Dryand Wet
P What are the people of Uwezo arealikely to mine?
A. Gold ’ B. Stones
C. 0l D. Sand- 3
3 Thepeopleowaezoawause asthelrmam
means of’
A. Railway B. Water
C. Road D. Air
4.  The general direction flow of river Uwezo is?
A. South East to North West
B. North West to South East
C. South West : _
D. South West to North East
5., Uwezoareaisa i
A.County B. Location_ .
6.  What social need is most urgentin Uwezo area?
A. School B. Hospital
C. Football field D. Mosque
thchlsthemamcashcropgrownmUwezo area?
A. Coffee B. Flowers
C. Tea D. Sisal
8.  Children who are only given one type of food are
being demed thelr night to?

10.

11.

12.

13.

A. Balanced diet B. Shelter
C.Food : D. Clothing

is the practice of buying afavour from
anotherperson - -
A. Campaign
C. Isolation

B. Democmcy
D. Corrupuon

Which of the following is not an mportance of
- democracy to pupils in a school?
A. Deciding which clubto join
B. Contributing inmaking class rules
C. Choosing leaders of their religious groups only.

D. Singing during classes
The featuer shown below is a

Ahngﬂndybftheweaﬂmlsknownas

" A. Climate . B. Weather
C. Sumy D. Rainfall
The longestriverinKenyaiscalledriver

~ A. Chania B. Tana

D. Subukia

C. At

A
Lo




14.

- 15

16.
17,
18.

19

20.

22,

. getthe

Electionsin Kenyaare heldafter __years

A 10 ~ B.5 -
.8 . D.20
mmmw
oM
5 5 ';, S Pl e o
A. ' Winnowing " - B. Plamng
C. Washing D. Sieq:mg
Who was the third (3"’) president of Kenya?
A. Jomo Kenyatta B. DanieiMoi
C.MwaiKibaki - . D. UhuruKenyaﬁa
Lari is a district found in county o
A.Kiambu B. Nakuru ;
C. Machakos D.Muring’a
Alongchainofhillsforma
A. Set “"B. Valley
C. Crown D. Range

‘Which of the following is not an lmponance of
vegetanon” v

A. It prevents soil erosion

B. It provides medicine

C. It damages river sources

D. Itinfluences climate -

: is the highest mountain in Kenya :
A. Mt. Longonot
B. Mt. Kenya
C. Mt _ _
D. Mt.Elgon . '
In glassmaking mdustnes which type of soxl is used'7
A. Clay . B. Sand :
C. Loam - D. Alhrviabs: o+ <

When the coldest and hottest nmm:ﬂhe dsy’s ;
readings are added togetherand dmded by two,you
ofthe day -

A. Annual temperature

B. Daily temperature

C. Average temperature

- D. Normal temperature

23,

24,
25.
26.

2.7

Y28 . The weather instrument below is used to measure

Bamboo trees are usuaily found mwhlchtype of
vegetation?
A. Savannah grassland

B. Semi-Desert

C. Savannahwoodlands

D. Mountain
thhwpeofsodlsusedmmahngofoeramxw"
A. Sand B. Clay : S
C. Loam D. Volcanic
Traditional medicine was obtained from

A. Foodstuffs  B. Animals -

C. Herbs D. Chemists

The quickest means of transport is

A. Road ,

C. Water D Raxlways

The following are traditional methods of
communication. Which one is not?

A. Newspaper B. Drums
C. Smoke - D. Homs

is ___ Kms?

£

ofwmd D Length
29. zpsiashad agesets
30. Wlnchofthefolbwmghmmnacuvmestsconduwd
B KlakeVm? S
Goazing * -~ B.: Fannmg
C. Fishing : D. Trading
3k Ape!sonwbosehfwtyleonewouldmétocop\ is
- a
A. King - B. Role model
C. Queen D. Model king .
32, : thhoneofﬂ;efollowmgamsmKenyansspameh
© populated” . |
A. Kiambu B. Kisii
C. Turkana . D. Kericho .
33. gnver lakeNﬂot&sarebehevedtohaveongmated
i
+ ~A. Southem Sudan
D. Tanzania .
34. Theroadsign below means
1 i 370 e o B " ;
A.Noentry B. Railway crossing
C.Roadjunction - ' D. Roundabout
35. Whldlofﬁleﬁ)ﬂomngshowsthenghttoshelter’
A. Living in the streets
B. Eating a balanced diet
C. Having a place tolive in s
' D. Having many vehicles
36. The Executive county members are appointed by the
'County Governor and approved by the?
A. County Assembly speaker
B. Deputy speaker
A % ComltyAssembly
D Assembily clerks
37"\'&6 wlm!mrgeofmakmglawsmthecount\
. A- County Assembly B. Executive Committee
C.Deputy Governor D. The speaker :
38. - A results from a difference in opinion between
two people or two groups of people :
A. Conflict B.
C. Birthday D. Failure
39. The CountyAssembly should serve fora period of
A. 10 B.3
Gt D.5 :
40. People born around the same time form
A. Clan B. Agegroup
C. Ageset ; D. Politicians
1. In Kenya. the longest distance from the North to St
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+2.

43.

45.

t
t9

s
)

- Al

e A - -,

. C. Nilotes D. Semites
é‘ fgg Skl?s;n 2 , g ‘8}8421 ﬁ(nnsls 55, C’l;hlf e?iﬁkial counting of people throughout Kenya is-
g nninelementg of amap are key,title, frame,scale é m : B. Census .
S : . Worshiping D. Polling
é“ lh)/lm g Ic)oxé‘;z‘ng 56.  Which ofthe following is an example of a nuclear
A plateau iska;so known as aml T A. Father,mother and their son
C M e gy ert g Father,mother,daughters and cousins
- Island o - Dese . Father,mother,children and grandparents
XMC Ofst?e following 1sanmeefa hardwood? _ D. Father,uncle,mother and their daughter
C v 4 D.E ucalvotus 3. All the Bantu groups of Kenya are believed to have
. hslahogan__D climatic regionis d )pms'bed : zng%mwd'from
- A"Cool and Wet B. Hotand Dry C. RiverNilearers
C. Warm and Wet D. Hot and Wet D. Congo Region ” ~
The mf’l@.?m markedMis.-. |58 The ___builttheirfortified villagescalled Kayato
o\ 4 AMassai -
- C. Wadorobo
. w £ ok ) T59. Population density is the
. : A. Number of people per Iocation - 7
o e B. Number of people per square kilometre. . _
ANNW o [\ VB SSW - C. Number of births per year A
C.NNE ' o D. ENE ¢ D: Number of people living in an area
g i o s 60.  Three ofthe following may lead into a conflict afnong
A“?a“ ement is mainly mﬂB uencedby communities in Kenya. Which one can NOT?
o ‘B. Security \A. Equal distribution of resources.
- Climate B. Unequal distribution of resources
C. Religious djffggences
CRE "
61. Werespect the Sabbath day because
: A. We are tired and need to rest
B. Itis acommand from God
C. God completed creating the world
: , D. Itis aday for visiting people
:{he hﬁetaKituf—i marked B 1s____B__Mt . - 62. Irresponsible boy/girl relationships can lead to
C.MtKenya  D.MtMarsabit A i picgricty }I}‘;‘r’,;mess
The lake marked Wis 5 Victar 63.  Whichone of the following is not a bad effect of
Several age groups formed s C.Soil erosi D. Drvi loth
A. Tribe B A Age-set S £ L.Sollerosion .Dr_ymgco es
C. Nation D. Clan - | 64. “Andnow we will make human beings.thev will be
n . : : like us and resemble us.” These words are found in
grkhl?ch of the following was taught to both boys-and the book of 9
A. House work and cooking A.  Luke :
B. Skills in hunting wild animals B. - Genesis
C. Iron working techniques C. Exodus
D. About proper behaviour » D.  Revelation .
Which one of the following was not commonly done | 65. Paul said that faith without action is
by the Traditional A frican Societies? A. Interesting
A. Building schools - ‘B. Harvesting crops B.Dull - -
C. Clearing farms - D. Buiding of houses C. Dead
The following are examples of artefacts. Which one is D. Encouraging
not? ' h | 66.  The following are emotional changes . Which one s
A. Language B. Painting ) not?. - .
C. Sailptures D. Decoration A. Hips broaden B. Fear
Xh%m_,m the largest langugggiﬁfsmeenya C. Love D. Happiness
tes B ) :



68.

were sisters of Lazarus

and
- A Mary and Elizabeth B. MarthaandMary
- C.TabithaandMiriam D Marﬁxaari’l Salome
- Which one is not a fruit of the Holy prnt
A. Peace ;
B. Self-control
(& Pauehpe
" D. Faith .

69.

s

13,

- 74.

7.

76.

T,

78.

£l ol Z M
R - !
e e
: T
; \

“ D, He was put in the garden - *

D.We

-A. Drugabuse .

Which of the followmg is NOT areason why boys 1

5 79.

! S

481.

1

and girls grew up sepaxatelymthedemonaiAm :
82.

Society?

A. Toavoid pre-marital relations
B. Toexercise self-control .
C. They are different. ‘
D. To be taught different ‘

£ As_spec1al in God’streauon because

B e was created last. - ;
C. Hewwas created in the rige:

You created every part of me;you putmétoyther in
my mother’s womb.I praise you because yon are to
be feared all you do is

.. -A. Great

B. Strange -
C. Worrying
D. Good ‘

From the story of Hannah we leamﬁﬂiv
A. We should be selfish

B. We should cry when in trouble

C. We should not cry inchurch, .

. el

Christians rember

A. The birth of Jesus
B. The ascension

C. The death of Jesus
D. The baptism of Jesus

Which one of the following dlscrplae was asked by
Jesus what they would do so as to feed the crowd
A. Philip : B Andrew

C. John D. Simon Peter
Responsible boy-girl relationshipleadsto

B. School drop-outs
D. Good performance

_ durngaster

C. Early pregnancy

By feedmg the five thousand people, Jesus

showed
A. He cared for their daily needs
B. He had power to preach
C. Heloved men
D. He wanted people to follow Him
___coveted Naboths vineyard -
A. David B. Aknb
C. Moses A D. Elijah -
When Jesus washed the feet of the disciples it showed

A. The importance of cleanliness
B. He loved them

C. Service to others

D. Their legs were dirty

oo R e

P

183.

_A. Giveofferings

84. The first disciples of Jestis were

85.
- A. They will annoy their parents - -

87.

88.

89.

90.

oo

. K; e R
S R

____brokethe elghth commandment accordirgto -

Exodus20:15 bykllhng hlS brother.
A. Abraham™ ~ ~'B.Cain -
~. David D. Saul

When we worship itis bad+o - .
B. Bap e

C. SingtoGod - D. Judgeevﬂaoexs

'l‘heﬁﬁicommandmentsays

. A Dopotkill -

-Accordmgto (Mathew22 36-40) the gxeatest

commandment is

A. Observe the Sabbath day
B. Donot steal -

C. Love the Lord your God
D. Do notkill

and

A. Peter and Andrew

B. Philipand John

C. Jamesand Paul

D. Andrew and John

Which one of the following is the BEST reason wh),
young christians should use thexrtlme Atz 18

B. 'Iheyammpomblefoxthmradmns ’

C. Their body is the temple of the Holy Spmt

D They can fail exams
'A. Adam

;Byt}odmbuddﬁmf*

B. Abraham

G Noah

D. Aoron
WhenJesussentHxsdlsaplw,hetoldﬂ:emtocam'
A. Food

B. Water -

C. Clothes

D. Nothing.

After the last supper,Jesus and His dnsclples went
to___topray.

A. Mt. Moriah

~B. Mt. Olives

C. Mt. Carmel - _

D. Mt. Kenya :

In the traditional society girls dld not

A. Fetch water

B. Herd cattle

C. Cleanutensils

D. Cook '
YourmnfonnlstomYou‘happentoﬁndtwoﬂlousand

- shillings in the school oompound.Youstulkr

A. Take it to your parents

- B. Share with friends

C. Buyuniform
D. Take it to the teachers.

4

-



s - GATUNDU SOUTH DISTRICT
‘ ASSESSMENT TEST MID-TERM I 2015

STD 5 MAT] EIEMATICS
. Wntethenmnbersxxhundredandsxxtysxxﬂlousand,snx A248 B.426
__bundred and six insymbols. : o h ‘
A 6666 . B. 600606 - C.526 D.242
C. 666606 D. 666666 < |13.  Work out 483+ 21 ‘ s
What s the total value of digit 8 in the 38079 A 63 B. 24
A 80 | . ‘ = c. 23 . B 32
B. 8000 - }14.  Add 4km 605m to 3km 700m ’
g- :00 - A. 8km 305m B. 7km 1305m
Round off 7651 to the nearest hundreds C. 1km 105m : . D.8km205m
A. 7700 . © B. 17600 15. . Whatlsthepenmeter of a square below?
C. 7650 D. 7660 » = A 100cm
Work out 22906 ; ‘ . ' L. B. 200cm
—2587 " C.  2500cm
A D. 150cm
A 20481 b "~ B.20389 16. Wluchofthefollomngmmbersnsaprimenumber'?
C. 20419 .. D.20319 A 4 B.: “15..
Write 99. asadecimal C. 30 D. 17
A0.99m0 B. 0.9 17.  Add:9g+ 4kg=
‘ 1 A 14kg B. 5kg
Workout 5X3 X2= 18. Completethefactortree, 36 -
A. 18 " B. 10 T ‘
S C. 30 D.6
Add 0.6+0.240.1= .
A ki 7 B.09
C. 08 D.9 | i, &
' Whlchoftht:followmgnmnbers1sanoddmlmbcr'7 A 18 g Cone B. 81
A 522 B. 841 ; SRR | ; 1 5 PR
C. 94 D. 206 19. Work out m .em
What is the place value of 6 in the following 807.06?| 5 74
A. Ones , B. Hundreds mikc 23
C. Hundredths ~ D. Tens ‘ A. 1097cm ' B. 10m 5lcm
Which of the following numbers is divisible by 4? - C.109m 7cm D.10m 97cm*
A 613 B. 118 - [20. Workout 3= %z S
C. <7938 ¢ D.- 108 A2 : p 1l 1.
Convert 6 meters into cm . 20 * 20
. : . C. 2 : D. 19 .
A.600 , v B. 60 5 § N
C.6000 -~ D.6 21. Workout:sh86ct75%3
Work out  3.84 A sh258 «cts25 . B. sh260 ctsl5
—1.42 | : C. sh2602 cts5 ~  D.  sh260 cts25
22.  Whatisthe LCM of 10 and 152




23,

24.

25

26.

27.

28.

29

30.

31.

A 5 | B. 20 A L
C. 30 I 5 A . 8]
Mutiso had a 20 shilling coin.He bought a pen and a
pencil. How much balance did he get? - '
Pen =shl5 ' ;
Pencil = sh2.50 ‘ :
Ash17.50 B.sh250 -
C.sh17.00 D.sh13.50
Workout m an

9 96

X 3
A. "29m'88m 'B. 2/m  88cm
C. “29m 78m D. 298m 8cm
Writé 19 in Roman numerals ' |
AXI B. XXI
& I_XX D. XIX
ConvertshSintocents . =~
- A..500cts B.50cts
C.’5000cts D Scents

Inatray there are 3 types of fruits p,t and b What lS
the total number of fruits

A.pXtXb . o Bepztsh
C.p+t+b- D. p+i—b
Work out: 7L gl
gy 2 3 7
A.,7'77— | = 7136
Add: %ﬁm%lim-!]—litI&G— :
A. L Litres
2 .
B. 3 Litres
3
€ 2 thrfs
D. Tli Litres
How many hours are there in 10 days‘7
A. 2400 hrs ' B.24hrs
Thisisa’ angle.
A.Triangle - B. Acute angles
C.Obtuse angle D. Rightangle

132.

. 133.

|34

- |3s.

36.

38.

39.

40.

41.

42.

This ﬁgure ismadeof _____ shapes
A."  Squares =B, Rectangles
C. Circles D.  Trangles

There are M pupils in a school. The nimber of girls is
X. How many boys are there ina school‘7

A m=x ' B mix

C. »m D. mXx
Arrange the following inorder ﬁom the smallest to

largest".l_ 2 ,l. ,_1..
23 743 :
Al 2 i1 - g2 1 11
2"—3-’4"3 323 4
el i 1 2 px, L 1 1
el g 0 T3 3943 2
Convert 24 months into years
A. 48years . B. 2years
C. 36years ...D. 12years
Mwenda has 3-two hundred shillings notes.How many
fifty shilling note can he getaschange"
A6 i ol g
¢ D. 12
Write down the date 20.6.1964 in full
A.  20thJune 1964 V
C. 20.6.1964
D. 1964 July 20th
Change13000meummtokﬂom$ ]
A. 130km B. 1300km
C. 13km D. 13km
Whatxsthenextnumbermthepaucm
35,37,39,41,_
A 42 ’
B. 43_
C. 40
D. 45
Add: 2134208
A. 401 . ... .B. 4l
C. 124 - D. 421
Fill in the missing number in the followmg
i =D m’w S
5 35
A 7 B. 21
C. 15 D. 10
Convert 600 minutes into hours
A. 60hrs B.6hrs
C. 10hrs D.10min




43.

45.

46.

47.

48.

49.

50.

‘D. 335

Divide 28m 17cm by 9

A.  3lm 3cm

B. 3m 13cm

C. 313cm

D. 3I3m

Change6%intoimpmperﬁ'acﬁoh.
g - B .1_3.
742 | .;

7
¢ D.5

A, 36
C. « 12

Work out l%—X5=
4 1
A.? , B.6 3
C.16 D.6 2
3

Divide sh 720+9

A sh80.10

B. sh90
C. sh80
D. sh70

How many cubes are there in the shown stack? -

y AR AR AW i
y A S SR A
[ 7 [ [
/~

A.32 B. 16

C.8 . D. 10

Ogola has 137 cows and 208 goats on his

farm. How many animals does he have on the farm
altogether?

A, 345

B. 71

C. 131

Use the table below to answer question 50.

lende Tally marks
Cars - N
Buses HU B

€s i

" How many more buses than lorries can you count?

op

tas SO M-‘“\»‘ A

ow

15
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STD.5 ANSWERS

MATHS ENGLISH KISWAHILI SCIENCE
.. 16 26. A |1 D - 26. C 1. A 26. B L. € 26. C
L, W H 27..C- 12 A 7. © 2. B 27. A 2. €& 27. A
oA 28. B |3 C 28. A 35 C 28. D 3. B 28. B
koD 29. Cl4 B 29. B 4 D 29. A- 4 A 29. C
. A 30. D |5 A 30. A 5. B 30. D 5. D 30. B
T 3. D6 C 31. C 6. A 3t B 6. D 31. C
e gyem by B o 32, C 7.7 32404 ooy B 32. B
3. B 3. Als BT R TCTTFSE A 33 B 8 B L C
) +C 3. C|9 B 34. D 9. B 34. C 9, D M. L
10. D 35. B | 10. D 35. B 10. A 35. B 10. A 35. B
11. A 3. D |11. D 36. A 11. A 36. G 1. A 36. B
12. D 37. At 12. C 37. B 12. B 37. A 12. D 37. C
15, € 38..C | 13. C 38. B 13. C 38. C 13: A 38. D
14. A 39. B | 14 B 39. D 14. A 39. A 14. C 39. C
15. B 40. D | 15. A 40. A 15. B 40. B 15. B 40. C
16. D 41. B | 16. A 41. € 16. C 41. C 16. B 41. B
7. C 42-C | 17. B 42. C 17. A 42. A 17. A 42. B
18. A 43.-B 8. C 43. A  ~|18. D 487 C 3. A 43. C
19. D 44. D | 19. D 44. C 19. B_ 44. D 19;-C 44. D
200 B - 45.. A | 20. B 45. D 20, € 45. C 20. C . 45,
21. ‘D 46. D | 21. D 46. B 21. A 46. A 21. Dy, 46 C
22uC ~ 47. C 122 B 47 A 22 B 477K 122 A 471 B
237B 48. A | 23. D 48. C DRSS Eaann ¢ iy . G 5 i © REdEERE [ R
24. A 49. A |24 D 49. B 24. B 49. A 24..C 49. D
25. D 50. D |25 A 50. B 25.++C 50. € 25. D 50, C
SOCIAL STUDIES " e
A 2. B 41. D 615 B 81 D
2. B 22. C 42. A 62.55C 8. B
3: G 23. D 43. B 63 D 83 C
5. A 25:. C 45. B 65. C g< B
7. C 27. A 47. B 6118 87. D
9. D 29. D 49. C 69. A 89. B
i |l ol R G 50:B 5y 90. D
D 31 &% 51. D 71 B s
120 A 32:.°6 52. A 72¢ D
13. B 33. A 53. A I%. €
14. B 34, C 54.- B 74. A
15::C 3550 55.B 25y
16:°C 36. C 56. A 76. A
17. A 37. A 57. D . B
18. D 38. A 58. B 78. C
19. C 39. D 59. D 79. B
20. B 40. B 60. BX 80. D



